RETFAN BE -/ EIERADER 01

1. ®3%z% () OhOMTIMHETLA LS, RO - 7. x O 2 RS Tk,
(SH35m, A0, Bf15208, CH2)

(1) 280 (—ofr) (2) 6000 (FHDfr)

(3) 5200 (-+fir) (4) 78000 (FH D)

2. H53BamWEHALLS, ROBUZKR -7, z DHIFAZ AFEATEYE.
(SH35F, Af50%, BR143208, C#2%)

1 8 (2) 28

(3)  5.197 (4)  9.20
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4.

(1)

(3)

(1)

(3)

H28ar () OFOMTIUEAALL S, ROBUZ 572, « DHifHZ2 A HFRNTEYE.
(SH35®, Afs0%, BR1y208, CHk24y)

450 (—nhr) (2) 7000 (HDfr)

8800 (+dfr) (4) 99000 (FHDfr)

HEWa ZIHEREA L5, ROV o7, ¢ DFHZ REX L.
(SH35F, Afs50%, Bf1320%, C#24)

3 (2) 5.4

3.001 (4) 7.00
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RE7AL BE -/ DEAAOER 01 HEESR

1. ®3%z% () OhOMTIMHETLA LS, RO - 7. x O 2 RS Tk,
(SH35m, A0, Bf15208, CH2)

(1) 280 (—ofir) (2) 6000 (FHDfr)
280 — 5 = 275 6000 — 500 = 5500
280 + 5 = 285 6000 + 500 = 6500
275 < x < 285 &EZX J. 5500 < x < 6500 EX
(3) 5200 (-Fofr) (4) 78000 (D)
5200 — 50 = 5150 78000 — 500 = 77500
5200 + 50 = 5250 78000 + 500 = 78500
5150 £ z < 5250 &Z S 77500 < ¢ < 78500 BZ

2. HIBxEBVERAALLS, ROBIZK -7, z OHifH %2 AEX TR,
(SH35®, A#s0%, Bf15208, C#2)

(1) 8 (2) 28
INBCE 1 DL PUIETA L 72005, INECE 2 DL VI TLA L 72005,
8—05=175 2.8 —0.05=2.75
8 +0.5=285 2.8+ 0.05 = 2.85
75 x <85 &Z S 2755 <28 &EZX
(3) 5.197 (4)  9.20
INBGE A D22 VISR A L 72 5 INECR 3L VIS L 72005,
5.197 — 0.0005 = 5.1965 9.20 — 0.005 = 9.195
5.197 4 0.0005 = 5.1975 9.20 4 0.005 = 9.205
5.1965 < = < 5.1975 -&Z Jo9195 <2 <9.205 EZ
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3. H3¥a% () OFOMNTHMEHEALLS, RO -7. z OHEiHZ A E TR,
(SH3s5®, A#s08, Bf15208, C#H2)

(1) 450 (—of7) (2) 7000 (HDfr)
450 — 5 = 445 7000 — 500 = 6500
450 + 5 = 455 7000 + 500 = 7500
445 £ ¢ < 455 BZ 6500 < ¢ < 7500 EZX
(3) 8800 (-+fr) (4) 99000 (FHDfr)
8800 — 50 = 8750 99000 — 500 = 98500
8800 + 50 = 8850 99000 + 500 = 99500
8750 < x < 8850 B2 98500 < = < 99500 -&ZX

4. D3Rz EZVERALS, RO > 72, ¢ DHiH#2 A EA TR,
(SH3s5m, A#s0f, Bf15208, CH2)

(1) 3 (2) 5.4
INEGE L D2 VIRER A L 72 5, INECE 2 DL VIS L 7200 5
3-05=25 5.4 —0.05=5.35
34+0.5=35 5.4+ 0.05 = 5.45
25x<35 &Z . 5.35<x <545 EZ
(3)  3.001 (4)  7.00
INBGE AL VIR R A L 72 5 NS 3L VIEERA L 720 5,
3.001 — 0.0005 = 3.0005 7.00 — 0.005 = 6.995
3.001 + 0.0005 = 3.0015 7.00 4 0.005 = 7.005
3.0005 £ x < 3.0015 &Z S 6.995 < < 7.005 EZ
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